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Booklst A (56 marks)
For eath question from 1 to 28, four options are given. One of them I8 the comect angwer.

Make your cholce (1, 2, 3 or 4) and shade the comect oval {1, 2, 3 or 4) on the Opticat Answer
Shest, ' ' '

1. Mark used the set-up below to measure the volume of gas collected in 30 minutes

Eylinder '

:’_/’.

boaker
\\..‘ glass funnel
watar water plant

Which change will result in a targer amount of gas collected?.

(1}  Adding green cokouring 1o the water.

(2) Moving the set-up further from the light,

(3) Putting in a water plant with more leaves.

(4) Using a plastic funnel instead of a glass funns!. . {

L~

e
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[

Ly ]

Four lest-tubes were sei up as shown below and lefl tn the sun for three hours.

The amount of carbon dioxide in the water in uach hst—tube waa {he serme ol the

- start.of the experiment.

Substance X is added o each tesi-luba to test for the presence of carbon dionide
in water. Substance X tums orangs when there ls an increasa In the amount of

carbon dicxide.

IR

in which test-tube{s} would sublstance X tums cranga?

(1)
(2)
{3)
4

The table shows tha approximats composition of four gases in inhaled and axhaled
atr.

A only
B only
A and D only
B and C only

A

wislar —.

e Percentage of gasin
‘ inhaled alr axhated alr
; P 0.01 0.04
Q 0.04 4
R 21 16
S 78 78
What is gas S hkeiy 1o be?
{1} oxygen
{2)  -nitrogen
(3) walar vapour
(4) carbon dioxide
SA1 2021
#
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4. The diagram shows how food and varlous gases are trénsportu;:l in the human

hody.
Ky —ﬂdpamlnhanby!ood.-
P - = =~ % path fokon by ghssa
sysbem
Q
L
ﬂﬂ?i [
surcounding §____ om Y. s exhaled
air T mt; T ek

Which systems do P, Q and R represent and what is gas Y7

Syatem P System O System R Gas Y
{1} - circulatory resplratory “digestive | carbon dioxide
(2) dipestive reapiratory circulatory carbon dioxidn
(3) circulatory | digestive respiratory oxygen
{4 |  digestive circulatory resplratory oxygen
PE 5C SA1 2021
3

www.testpapersfree.com

BP~317



8.  Study the concapl map balow carefully.

! im a form of energy

[

/A

~

aliows us o see the
things around us

is needed by plants for

an imponant iife process

What will happen to a plant if A is missing?

(1) Itcannat camy out photosynthesis.
(2) it cannol take in water from the soil.

{3} 1 camnot undergo pollination and fertifisation.
{4} Itcannot exchange gases with the surroundings.

B. The diagram shows the cross.setlion ofa slam.

Part & turns blua when tha stem is placed in Hue-coloured water for two days.

What is the function of Q?

{1}  To absorb waler from the roots.
(2) To absorb food from the leaves.
(3}  To transport water from the rools.
(4)  To transpori food from the lsaves.

P8 SC A1 2021
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7. The diagram below shows the dispersal of susds by plants P, Qand R.

wind direcilon S winddinction
m M:-. Jee W y * . ".i.:::.:
[ Rl S R
Which of the following shows carractly How plafits P, Qi and R ae dispersed?
PlantP " PlantQ . PlantR
) animal animal explosive action
{2 explosive action ‘animal wind
{3} animal explosive-action - | wind
(4 explosive action | explosive action  §° " animal

8. The diagram below shows a flowering plant at diffarent stages. -

' Stage 1 Stage 2

‘What sre the conditions neaded at all three stages?

{1)  air and light

{2}  airand water

(3}  warmth and oxygen

{4)  carbon dioxide, waler, fight

P8 5C SAT 2021
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g. The diagram balow shows ceil G.

Which part controls the movement of substances in and out of cell G?

(s
2 Q
3 R
4 S { )
10. The diagram below shows the types of organisms found along a stretch of river
near & factory. i ;
organisms A. B, Cand D
fsstory emptyng
organisms C.aﬁd D

organisfns A Cand D

organisms A, B, Cand D

Based on the information given, which organis'm{s) can live in the most pollulad

waler?

(13  Aonly

(2) Gonly

(3) A and B enly

{4} CandDonly { }

PE SC SA1T 2021
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11.  Forthe past 10 years, the amount of carbon dioxide In the Earth's stmosphere has

increased significantiy.

Which of the following actions could cause the incraase in carbon- dioxida?

A -

8
&
)

(n

2
{3)

4

soil erosion
deforestation
___'riaa'in sea level
Ming of fossi! fuels
A and C only
B and D only

A, Cand D only
B, C and D only

12.  Worms coma to the soil surface after 3 heavy rain.
Which characleristic of fiving things doss this show?

(1)
(&
(3)
(4)

Living things die.’
Living things grow.
Living things reproduce.

P8 SC SAT 2021
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13. Study the fowchart below carefully.

Doss it make iis
own food?

No

Does it have
wings?

No

Doas it have six
logs?

No

The diagram below shows living thing X which is found in a garden.

Living thing X

Living Things '

Yes

Yes

Yes :E—_I

Where could living thing X be placed in the flowchart above?

(1) A
2 B
3 C
4y D

P8 SC SAT 2021
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14, The diagram shows a structure at sea.
The waves at sea cause part B 1o move up and down which genarates elecircity.

Waves

Based on the Information given, which of the following is’are corect?

A

8

Q)
(2)
(3)
®

Waves are a non-renewable source of energy.

Genéruing eloctricity in this way does not release greenhouse gasds
into the environment,

The structure will not be able to generate the same amount of ele-r:tficity
afl the time. : : ’ '

Bonly
A and C only
8 and C only
A BandC

P& SC 5A1 2021
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15. Four kibntical wet lowals are hung out to dry outdoors In diffasent locattons as
shown In the diagrams balow.

Which towe} dries most quicky?
(1) {2

sunny, windy

A
TN

P8 SC SA 2021
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16, The dlagram shows an aeroplane on a runway.
The asroplane Is atrest at A, ltmoveatoBbeforataﬁ!ngoﬁinmu‘uskyatc

At which position{s) isfare gravity actlng on the planl:?

(1 c on[g.r

(2) AandBonly

{3y BandConly

{4) A,BandC { )

17.  Which of the following comrectly shows the similarity or difference between boiling
and evaporation?

(1)  Both boiling and evvaporatidn redﬁim direct heating.
{2y Both boiiing and evaporation take ptace ‘at a fixed iemperaturs_

{3}  Theliquid gains heat during bomng bui no heat is gained during
evaporation.

{4)  Boiling takes place throughout the ligquid while evaporation takes place at
the surface of the fiquid. _ { )

P6 SC SA1 2024
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18. Julla poured equal amount of hot waler at the sama temparature into two
contalners, A and B, made of the same matarial. She placad a thermometer in
each container 1o measure the temperature of the water as shown In the diagram
below.

Julla recorded the tempeorature of tha watar in sach container over 10 minutes.
Which graph cormectly shows the changas in lemperature over 10 minutes?
(1} 2

Tamperature / *C Temperaturs / °C
1} '
\' N \_— .
A 8.
Tima / minutes Time / minutes
(3) {4)
Temperature ! *C Temperature | °C
4 +
A B
8 A
Time / minutes Timea / minutes ( )
P8 5C SA1 2021
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19, Sludy

EE

the set-up below.

basin X

basin Y _

— gluss tube

[~ fosk ¥

For the red ink 1o move towards flask Y in the shortest tims, what should be the
tamperature-of the waler in the two basgins?

[ Temparatore of waler in Temperaturo of water in
_ basin X ('C) basin Y ("C)

() 35 50

{2) 50 95

3) 50 15

(4) 96 50

e

.( - Y B
20. Awaler tank usad for flushing a toilet bowd is shown below. The flushing and re-

fitiing system s not shown in the diagram. After flushing, water enters and re-fitis
the tank.

James wanlid 1o use less waler to flush the toitet bowl. He

stones

Which property of matter does this show?

(1)
(2)
{3)
AL
P8 SC SA1 20

Tt e e

o the water tank

Mattor has mass.

Matter sinks in water.
Matter lakes up space.
Matter ~an be compressed.

21
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21. Tha diagram below shows a sel-up that uses four identical lamps to haat food.

When the lamps are brighter, they give oul more heat.

———
ey aNo Yy mu

21N ZEN AN N

food ) CEEEE)
7/

In which of tha following circuits will the lamps give out the most haat?
{n

< |

T
e

T XY

el

3}

[

ST EIX

P& SC SA1 2021
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22. Inthe sel-up beiow, the bar magnat is

attachod to the spring moves when the circist is cloged.

pointer spring

bar magnet

repeiied by the electromagnst. A polnter

T

How will the pointer move when one mors battery is added? Why?

Movement of the pointer Strength of the slectromagnaet
(1) upwards increases R
{2) upwards decreases
{3) downwards Increases
{4y | downwards decreases
P8 SC SA1 2021
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23. HNetalle placed 2 hot boiled agg in a glass container of coid waler.

container
T

cold waber

hot boilad
808

Which of the follawing comecily shows the flow of heat?

het eqg

.\— comainer

() .r"—“ water
hotegg

N - - .~ =

{3} /.-—""" water

hat egg

kﬁ “containar
{_..-——' watsr

hot egg

‘\-.- container

(4

pg 54 SAY 2021
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24.  An experiment was conducted Io investigate whether fight can pass through four
sheets, A, B, C and D, made of differont matorials. The sheels were drunged in

wo set-ups P and Q as shown.
toch A B G D tch € A B D
fl"-i'l!é 1 l-l--té
0 10 .20 30 d4bem 0 1 » M O
Setup P . _ Setpgp.d S
The distance travelled by the light for each set-up was measured and the results
are shown in the chart below, '
40—-.»-.
mm 30-! -----------
travaliad by
ight (am) 20 -
10 ==
0 o .
P Q
set-up

Which one of the following correctly describes sheets A, B, C and D?

Does It allow light to pass through?
A B c D
{1} no not swre yBsS fno
(2) yes no yos not sure
3 not suro yes no yas
(4} yes no not sure no

P& SC SAt 2021
17
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25, Wrich of the folowing siatement(s) doscridels) the volume of n objeat?

A The volume of an object is the amount of apace.il takes. up. _
8 mmammmummgammm
G mmuudanqﬁudhmwhmmob}ldqﬂmmm“undi

{1) Bonly ‘

(2) A=ndC only

(3) B and C only

(4) A.BandC (

25. Jason rocenily purchased four magnats. in order 1o find oummchlnmmnnul
Mhmmﬂhﬂwﬂmnhm

—3 ¢

6& HAT oy Aae & b S—————0nsll
From the results given, which one of the fallowing best describes the strength of
the magnels abova?
Syrongest Waahest Mot possible to telf

{1} [ D AB

{2) A o] 8,0

{3} 8 A c.D

{4) [+ 20 B A.C { )

P8 5C SAT 2021
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27.  The diagram below shows a round glass bowl. A miotat bl woo hold ut P,
YWhen the hall was released, it rolled down.

Which of the following Is the mos! likely path of the bati afier il was released?

{1} 8 and out of the bovwd

(2} S and then rolled back
{3} R and then rolled back
{4y  Qand then rolied back

28. Study the circuit below. Bulhs A and B, and the three batteries are identical.
At first, bulb A is unlit while bulb 8 is lit with a brightness of 10 units.

buﬁon ' metal lever bulb A

_ matal apring

i
H

bub B
I the button is pressed and heid down, what woutd happen to bulbs A and B7

butb A buib B,
{1} as bright as 10 units gniit«<
{?) brighter than 10 units unfit
{3) as bright as 10 units ‘Brighter than 10 units
{4) brighter than 10 units brighter than 10 units

End of Booklat A
P8 SC SA1 2021 :
ro
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Booklet B (44 marks)
For questions 29 10 41, write your answars in this booklet.

The number of marks available ls shown in brackets { ] at tha end of each quastion or pant
question. - :

28. The diagram shows plant cells M and N.

Coll M’ Cell N
() Which cell, M or N, is able to cany out photosynthesis? | 1]
Explain your answer. '
{b) NamapartZ md stale its function. : [%}
PG SC SA1 2024
1
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30. A group of students used an aquatic plant to invesligale the effect of temperature on

the rate of photosynthesis.

The set-up is shown beiow.

7
b ]

glesa buaker

.08 0 o

bubbles of gas

thermormister

clear syringe

aquatic plant

The studerts counted the number of bubbles of gas the aguatic plant produced in

two minstes at different temperatures,

The graph shows their results.
m }}I
150 s
P s
of bubbles aubdbphEua ) £
olgas H
producd H ]
in Wy as
minies :
50 I H
i -
o+ 4
0 i 20 30 40
temparatuie /°C
P8 SC SA1 2021
2
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Question 30 continued |
() In the table shown balow, tick (v’ ) the variables that the studants should keap Iha
© SAMmEa
Tick () : Yariable
Type of aqualic plant
| Bubbles of gas
Temperature of water
Duration of expnrirrmt

(b) Using tha information from the gmph describe hourtha temperaturé affects ﬂ'le
rate of photosynthesis.

n

)

Ancther factor that affects the rate of photosynthesis is fight.

The amount of inght that passed mraugr ihmu mabnats are reconied in the table

below.
Watorial | Amount of light paseed through 7 units
P- N ! B .' . . : - 200 : !
Q i ' 0
R 80

{c) State which material is most sultable for making a greanhouse for growing plams
Explain your answer.

{2

P SC SA1 2021
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31. The human body is made up of diferent organ systems working together.
(a) State the main function of the human circulatory system,

{b} The diagram shows how biundﬂouhaﬂhlﬂ :lutnol'the human body.

(i) Stsie a difference between the blood in A and the biood in B.

BP-338

[}

m

(i} Explain your answer _in (143 (33

it

P8 SC SA1 2021

www.testpapersfree.com



32. The diagram shaows insect P visking a flower of plant X.

{a) Describe how insect P helps the flower to develop into a fruit.

{b) Supgest two features of the fiower that atiracted insect P to the flower.

' The diagram shaws parts A and B of the fruit of plant X.

A B

{c) Name the parts of the flower from which parts A and B have developed.

Part A B PariB:.

PA SC SA1 2011
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33. Plant M has isaves that are while at the edges. Part of a leaf of piant M was covernd
with a thick black paper and the plant was placed In the dark for 2 days.

black paper

After 2 days, the plart was plsced under the sun for 12 hours before the thick black
paper was removed from the leal. The leal was tested for the presence of starch.

(a) Predict which areas of the leal will contain starch after 12 hours, Pl a tick (V) [1)]
starch is prasent.

Area Tiek {v)

{b) Expiain your answer for Area K. 1]

P86 SC SA1 2021
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34. Stomata araﬂwopmlngsmndmuuyontrnundersidtonam Thay control water
inas by opening and closing.

(a) State another funct:an of the stomata. 1

Rlvimvestgatesthaofhctoﬂﬂnpem“unﬂnmovemeniofwterﬂvoughlpiant 5
Hasatsupﬂnappammmmmedhgrmwow = o

Hlﬁwmasomt!ufalovnngstem

) [ Hemﬂmposuimofumrbtmnhmﬂofmmt

2. Hohlusﬂmad-wuah-mmfoﬂo minutuandrecordsﬂunew
position of the air bubble.

3 Heﬂpeaﬂ-hstapsataﬁﬁﬂammmwm.

Diagram 1

© yater

glass tuba

Tl-nmovemmufﬂzaalrbmhllInmw-upumsthemumamrlakanmw
the shoot. mtahbmmtmmmatﬂavlmobtamed

Temparature | Poshiion of bubble | Poaition of bubbie | Disianes moved

at the start {cm) after 10 minutes by bubble {cm)
{cm} _
Low (brial 1) 22 3.7 1.5
Low (trial 2) 38 5.2 16
High {trial 1) 38 74 33

P6 SC SA1 2021
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e 50 SAT 2021

Question 34 c_onli_nued

The diagram shows the position of the air bubble at the start for trial 2 set at high
temparature and its position after 10 minules.

Position of alr bubbile at high tempeorature (trial 2)

air bubble glass tube alr bubble glass tuba
j T
[ SR ] " 5 - | el
gy 'g""'s" # g 1 % g' # 5"1"'_7&'
" Position at the start Position after 10 minutes

{b) Study the valugs given below.

Based on the posiions of the air bubble shown above, state the distance M
moved by the air bubble by circling the correct value.

2.5 om 34cm 4.9 cm

(¢} Suggest why the armount of waler taken in by the shoot ma-,l notbethesameas (1)
tha amount of water lost by the shool.

(d) Ravi remaves three leaves from the plant shoot shown in diagram 1. He 4}
observed that now the air bubbie moves slower,

Give a reason for this absarnvation,

www.testpapersfree.com
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35.  Mala wanted to find out whether gurminaling seods producs hoat,

Sha sats up the expariment as shown in the diagram below. Tha
se«hsnbommmﬂ-mﬂoflhaelpuinemisim lﬂhmtumoum

mdist seeds

Temperatures recorded s the end of the sxparimsnt

“{a) How did Maila ensure that only thu seeds in one ﬂask gﬁmmula? : g [_11
Explain your answar. 5

b} Suggest why cotton woo! was used rather iifan a rubber stopper in each flask.

{c) Bewedon the results given, what can Mala conciude from the expmnwnt? 2
Explain your answer, "

P6 SC sa1 2021
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36. The dlagram shows nuis with outer covarings called shell. The shell is inedibie.

shel)

Animal C feeds on the rut. However, it is unable to broak the shell by squeszing it
between its beak.

{a) Which property of the shadl is observed above? {4
' l

in order 10 break the shed, animail C fiies off with the nut in its beak.
Animal C then drops the nut on the road which causes the shell to braak.

(b) Fill in the boxes below to show the energy conversion as animal C drops the nut. 23

Nut Nut Shelt

(c) | the shell does not break, animal C will By aven higher with the nut before
dropping . How doss this help Animal C to crack the shell? 1

P6 SC SA1 2021
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37. Diagram 1 shows tha experimental set-up Melvin used to investigale the effects of
force on the extansion of two diffarent springs, A and B. _

Diagram 1 Dilagram 2
Extension of spring (cm}
0
a 2 5
= 8
| -scale Spring A
- 4 i
weights . THE
on i : z:rz'.____&
o S T e AR ' o

o 5 w45 20 25 30 35

Amount of force {umt)
The graphin diagam 2 shows the sxlenslcm of springs A and B whan the 'mights :
. are added,
{a) Explain the purpose of adding welghts to the set-up. - -' .['1] |
(b} Melvin concluded that spring B is easier to stretch thah spnng A. M

Use the results from the graph 1o expiain whether Melvin Is correct,

P65 3C SA1 2021
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Question 37 continued

Melvin used spring A 1o build a launcher shown in the diagram below.

launcher  1-kg biock ¢ -

sptin
p Q F'..l"..l"..i"..!"..i"fffff!}llflﬂ”ﬂ’f’”"ﬂ

He pushed a 1-kg block towards the launcher and refeased it. Tho block moved by a
distance o before !opplnn. y

Melvin repeated the experiment using simifar biocks of differant mass. His results are
shown in the tabla below. '

Mass of block (kp) d{em}
3 30
2 22
3 | 13
4 5
s . 3

~ {c} Based on the resuits, how does the mass of the block affect the distance moved {1
by it?

. Meivin conducted the experimeni with a 10-kg block. He observed that the block did
.not move at all.

{d) Expiain why the 10-kg block did not move. 3]

P SC 5A1 2021
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Question 37 continued
Steel springs ars found In a batiery holder as shown balow.

Melvin inserted batterias into the battery holder and connected it as shown in the circuit

diagram balow. .
{e) How do the steol springs in the battery holder heip it to kunction propedy? 1

P& SC SAY 2021
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338. The diagram shows a Sofar Still,

Seawater is pourad inlo the Solar St and the Solar Stll is ieft floating on the sea.
Alfter somas time, pure water is collected in parl R.

seawater is

clear plastic poured here

pant R

{a) Based on the information given, describa how the Solar Still is able to collect [2)
pure water from the seawater,

{b) The container that holds the seawater In a Solar Stifl is usually made of stee.

Explain why slesl container is more suitable than a plastic container for holding
seawater in a Solar Still.

P L0 A1 2021
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c: Adnrtﬂnerpiamdcamofdrmksatmﬂnlemperam:ntoaboxlhﬂoﬂcaas:
shown in Diagram 1.

 can of drink in lca can of drink on los

b X .
.. Disgrae 1 Disgram 2
{a) Explain why the cans of drinks cooled down after some time. S
(b} Which method, diagram 1 or 2, will cool thecans of drinks faster? . 2)

Give a reason for your answer.

P& S 8A1 2021
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40. Reina investigates how quickly heat is conducted through four ditfere

diagram shows the experimental set-up usad. ot metals. The
hot water ;
' Z meial rod
molal
box \"\..
R poa

Each of the four metal rods have orie end fixed Into the metal box, Each r6d has a
pea attached 1o it by wox. ’

{a) Describe what happens o the wax and 10 the pea on the metal rods after a M
while.,

(b). State how the experimental set-up helps to identify which of the four metalsis  {1]
the best conductor of heat.

Reina's teacher wants her to improve the experimental set-up. She suggests
placing several peas along each rod, as shown befow.

Wax

(¢} Expiain how the improved set-up gives a better comparison of how quickly 1]
heat passes through the four metals.

P8 SC 5A1 2021
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41, The diagram shows a cafling Hight with three bulbs found in a restaurant,

ceiling light

Simon noticed that when any one of the bulbs are removed, ﬂtarestufﬂmbtdbs
werano}ongnht

{a) Using on!;r wires, completa the circuit balow to show how tha throe bulbs are - i}
connected. -~ : :
source [~ : U/

Simon wanted 0 add another bulb to the ceiling light wch that the new light bulb wHI
continue to be it aven when any one of the other bulbs are removed. ,

{b) Add another buib t your circuit in part (a} to show how Simon can do this. [t}
{Mote: Use the symbal for bulb in your drawing)

End of Bookiet B

6 SC SA1 2021
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Q1 Q2 | Q4 Q5
Q8 | 09 | Qo | Qll | Qiz | .4
2 | a4 T2 "4

Q6 | 016 | Q17 | 018 | 015 | 020
2 o} 4 3 s %5

'Qﬂ Q23 ' 234 -st. Q26 Q27
. - 8 2 2 3 $

-8 o8 8 b8

BOOELET B

Q29 a}] Cell N is able to carry out photuynthuil: Cell N has
' chloroplasts which contain chlwuphyll to taken in suullght for
photosynthesis.

b) TNucleus. The nucleus controls all activity going on within
the cell.

Qaﬁ a) i) Type of aguati¢ plant
iij  Duration of experiment

b) When the temperature increases from O to 30, the rate of
photosynthesis increases. When the temperature increases from
30 to 40, the rate of photosynthesis decreases.

¢) Material P. It is a transparent material which will allow the
most sunlight to pass through the greenhouse, ensuring that the
growing plants will be sble to take in maximum sunlight for
photosynthesis. So the rate of photosynthesis increased.
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Q31

Q32

Q33

Q34

b} i) The blocd ii A ot

a) It h to transport blood rich in oxyg
all parts of the body. It will: al&0.
dioxidefnik to the luﬂgst for &

inB nnntarin: less oxygen.

) mmmwmmownmtulmgs wihiich will
be pumped by the heuttoaupm-oftnnboay

a) Innctl"wi‘lltranl:ﬁrthtpnu’m Imm tha anther of the
flower of plant X to the stigma of another flower, helping to
pollinate it. After that, the flower w!ll be nhl: to fu‘tﬂize and
became a fruit.

b) The flower has colourful petals and produces a sweet scent.
¢) PartA: Ovary Part B:  Ovules

a} Areal

b} Area K is a white area, which does not have chlorophyll to
trap light for photosynthesis to take place.

a}  The stomata allow gaseous exchange to take place.
b) Ans: 3.4cm

&) When the plant is photosynthesizing, the amount of water
taken in may not be the same.

d) When the three leaves are removed, there will only be one
leaf to photosynthesis and make food. Therefore, it will need less
water and the shoot will not absorb a lét of water, thus the air
bubble moves slower.
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Q35 =) Mhmmthmnmmthn-hh
mu.m-u&.mmntummmm,umthq

cainot germinate. In the end, only the seeds in the first flusk
gorminated.

b) Thwﬂolwﬂﬂmmhmtuthﬂ-k,hutm
iuunntlllnwmtouht

e} l-hmmmthtmﬂmﬂq-nhmmn.
mmummmmww-m
thntmpnﬂmtnthhkiﬂhd:yn-dlﬁm

Q36 =) .Thl:h-nh:ltnng. SR
b} Hut- H!E!Mmz —_—
Nut - Kinetic enesgy ——>
‘Shell - sound energy  + Kinetic energy

e} Thpuﬂhﬂuuphnﬁﬂmﬂmmm

-mmhmkh-ﬂnwmthmhm
thn,hﬂpinlaﬂnﬂCI:umthnihﬂl.

Q37 =) Th“uhuﬂutumthtuuuth -prlu;tnltretcrh

“B) m&mhmmmmwa
l‘mi-mtnnmhquu',n’lutud.nnillm

< Mthmdthnhhﬂmmmm"dh
Itm

d) Thmmmwwmqmmm
overcome the frictional force between the block and the floor,

&) Thlm;'uhﬂ!ﬂnhﬂnrylﬁnulthlnltalconﬂuhn
that there was a closed circuit.

Q38 a) mmwmﬁnhqtuimpmhtohu-m
vapour, which will rise and come In contact with the water
mammmmwmwomumm
&uﬂltﬂuﬂmﬁuﬂlhuﬂlﬂmmmwl.
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Q41

b}~ Bteel i3 a better conductor of heat to allow the seswater to
guin heat faster and evaporate faster, making it more suitable
than a plastic container. : '

of drinlks will lose heat to the ice, allowing them to cocl down
after some time.

b) Diagram 1. Bince the cans of drinks are in loe, there is more
to lose heat to the ice faster.

a)  The wax will melt and the pea will drop after & while.

b) The pea that drops first makes the material the beat
conductor of heat.

¢) . The peas are closer to the hot water so restlis cun be
observed more guickiy.

a)
b)

gl D
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